EJEMPLO:

x*+10=410
x*=410-10

x* =400

x =v400

x1 =20 x2 =-20

x2+20=120 %2 + 15 = 240
x2 =120-20 x2 =0 - 15
x2 =100 x2=225

x2+ 18 =67 x2 + 60 =85
x2=67018 x2=85860
x2 = x2=25
x =49 X =




EJEMPLO:
x?-10=134
x4 =134+10
x* =144
X =V144

X1 = 12 X2 = -12

x2-25=144
x?2 =144 + 25
x? =169

X2 = -13

X1=13

x2-50=175
x2=175+50

x2-90 =54
x2 =54 +(8
x2 =144
x =V

X1 = 12 X2 = -12




EJEMPLO:
5x%-26 =54
5x%2=54+ 26
5x% =80
x2 = 80/5
x?=16
=16
X1=4 X2 = -4

4x2-26= 74
4x2=74+26
4x2=100

x2=100/4
Xz =25

2x2- 61 =139
2 x2=139+61
2x2=200
x2=200/2
x2=100
x=v100

X1=. x2 =-10

3x2-10 = 2
3x2=2+10
3x2=12

2x2- 5= 3
2x2=35
2x2=8

x2= 82

10x%2- 200= 50

10 x2 = 50 + 200
10x2 =D
x2 =250/
x2 =25
x =25




EJEMPLO: 2x*+ 61=79
8X2 + 20 = 220 2x*=179-61
8X2 =220 - 20 2x*= 18
8X2 =200 x=/2
X2=200/8 x2= [

X2 =25 x =

=

10xz2 + 200 = 240 10xz2 + 200 = 840
10 x2=240-200 10 x2 = 840-200
10x2=1D 10 x2 =D
x2=40/10 x2=640/10
X‘= 4 X‘= 64
x=V x =Vl




2
EJEMPLO: b aw
. 2
%:15 X2 + 10 = (7)(2)
2 —
X2 -10 = (15)(6) " +)1(.?_11:_10
X2 - 10 = 90 X2= 4
X2 =90 + 10 -
X2 =100 X=v4
- o f
X =100 X: = () e 3
X]ZIU Xzz-lﬂ
v x2-20
0 ool
2 —
X2-50=(1)(50) oAl Gt B
: " X2-20=5
X2-10 = 50
: X2 =5+20
X2 =50 + 50 .
g x:= )
x = (D e
X =100 S
X1=. w5 =40 X1=5 X2=.
Xz%«mo _10 x2+20 :3
20 15
X2+100= (@B)(20) X2+20=(3)(@D)
X2 -100 = 200 X2 +20 = 45
X2 =200-100 X2 =45 -
X2 =100 X2= 25
X =100 X=v25
Xlz. X7 :- X1—5 Xz:.




Je todas

levas puestas

ACTITIC

es la mds



